Math Homework November 28th – December 2nd


Monday- Module 3 Lesson 20 Area Model for Division

1. Maria solved a division problem by drawing an area model.  
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Look at the area model.  What division problem did Maria solve? 

b. Show a number bond to represent Maria’s area model.  Start with the total, and then show how the total is split into two parts.  Below the two parts, represent the total length using the distributive property, and then solve.

2. Solve 42 ÷ 3 using an area model.  Draw a number bond, and use the distributive property to solve for the unknown length.

Tuesday through Friday- Understanding division remainders. Solve each word problem using any strategy you like best. Be sure to answer what the question is asking, do not just write the answer you get. 

a) Faye had saved up 31 quarters and decided to spend them on sodas. If it costs 6 quarters for each soda from a soda machine, how many more quarters would she need to buy the final soda?

b) Sarah had 33 songs on her mp3 player. If she wanted to put the songs equally into 7 different playlists, how many songs would she have left over?

c) Each house a carpenter builds needs 3 sinks. If he bought 19 sinks, how many houses would that cover?

d) A new video game console needs 9 computer chips. If a machine can create 66 computer chips a day, how many video game consoles can be created in a day?

e) A machine in a candy company creates 47 pieces of candy a minute. If a small box of candy has 5 pieces in it how many full boxes does the machine make in a minute?

f) A store owner had 6 employees and bought 56 uniforms for them. If he wanted to give each employee the same number of uniforms, how many more should he buy so he doesn't have any extra?
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